¢ 10- 11 BF DI

A=RE-A—TOoHBEH B=HR-TOvy/HIBEEH

IE 2 K4 BEtRAUE | RBRAUF | HRRAUF | R—FR
1 |[#BA &N 190.72 125.00 65.72
2 WLFES 101.15 85.00 16.15
3 AR IEF 90.28 50.00 40.28
4 |AT REH 86.37 75.00 11.37
5 |KE &KX 74.00 20.00 54.00
6 |[#E FEKX 72.96 47.16 25.80
7 il K& 63.80 42.50 21.30
8 =H EH 56.12 33.50 22.62
9 MEFRXL 54.00 54.00
10 |#HEAKER 52.92 50.00 2.92
11 RiEREZ T 52.75 39.50 13.25
12 |[BH —&} 52.62 41.00 11.62
13 |@\HE BA 52.50 42.50 10.00
14 |BK 8B{= 49.34 42.25 7.09
15  [[BK =R 43.46 27.50 15.96
16 == =y 37.60 13.25 24.35
17 A Kz 34.00 34.00
18 |ERIFBEZA 33.72 24,50 9.22
19 |BE Zx 31.23 13.50 17.73
20 [BEXK @K 31.07 31.07
21 |FHIERE 30.21 18.41 11.80
22 |AIE JT/E 30.00 30.00
23 | Kfa ¥IER 28.10 0.00 28.10
24 (fB]R 1R 25.65 8.60 17.05
25 |&=E NE 25.55 20.00 5.55
26 |FHIL K 25.52 20.35 5.17
21 |RE T 25.40 20.00 5.40
28 |MAARETYNT 25.30 25.30
29 |dtE B 20.70 9.50 11.20
30 |F# Bk 20.52 13.50 7.02
31 FH KH# 19.40 16.50 2.90
32 |IUKR @& 18.88 9.50 9.38
33 |fIER IEE 17.90 9.00 8.90
34 |ARFEAXER 17.76 12.06 5.70
35 A FE 16.15 12.75 3.40
36 i 15.95 10.75 5.20
37 |FF FiIk 15.70 11.05 4.65
38 |EEN 4B 14.95 6.00 8.95
39 |l IHEE 12.65 8.46 419
40 (KB BX 12.41 7.66 475
a1 |FEE A— 11.65 4.40 7.25
42 |dtil KHEE 10.92 8.00 2.92
43 | AHE = 10.90 7.00 3.90
44  |HKE—ER 10.15 10.15
45 |fBlR &N 10.05 3.85 6.20
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¢ 10- 11 BF DI

A=RE-A—TOoHBEH B=HR-TOvy/HIBEEH

IE 2 K4 BEtRAUE | RBRAUF | HRRAUF | R—FR
46 |5 B 9.67 3.00 6.67
47 | ABRKE 9.43 4.90 453
48 |2 HM 9.11 7.16 1.95
49 |HEFE BE 8.89 4.50 4.39
50 (MK EBE 8.64 555 3.09
51 |B&E X 8.33 8.33
52 |tRHE X 8.03 4.10 3.93
53 |BARK —E 8.01 5.60 2.41
54 |MTF = 7.85 5.00 2.85
55  |ZJIl #7 7.70 5.75 1.95
56 |{k@E HM 7.09 4.80 2.29
57 |fE = 7.06 3.85 3.21
58 |[lLEF BEE X 7.00 7.00
50 |EA RE 6.79 6.79
60 |[FFE 6.77 2.20 457
61 WiH itk 6.70 0.00 6.70
61 kIS5 — 6.70 0.00 6.70
63 |=RE IKIE 6.20 3.00 3.20
64 |TJr9A+0ArYRE—FA 6.10 6.10
64 |FafE $RIE 6.10 6.10
66 |=H &KF 5.80 3.30 2.50
67 |BE A 5.76 2.66 3.10
68 dajll fEm 5.28 450 0.78
69 |[BBXK £t 5.24 2.10 3.14
70 |RTE #HEw 5.23 2.95 2.28
71 {hRIBER 5.23 410 1.13
72 |FAK ER 5.22 0.00 5.22
73 Il 844 513 2.66 247
74 |E® ZX 5.02 2.50 2.52
75 | ZR BE 5.00 5.00
76 |PAIERPFR 2 493 3.30 1.63
77 |IRA KE 4.80 2.30 2.50
78 |§FHA & 4.37 4.37
79 |&JIML—EA 4.36 4.36
80 | K#ZB FE 3.96 2.66 1.30
81 EH OBEE 3.90 3.90
82 |[Ig &BXKER 3.75 3.75
82 NS wat 3.75 3.75
84 |(BBFE &EA 3.55 2.20 1.35
85 | K#¥F B3} 3.45 1.90 1.55
86 |XE #C 3.25 3.25
87 |AF @D 3.20 3.20
88 INE hiE 3.00 3.00
89 |AGFEHEERS 2.97 2.97
0 (//WNEBBEEZE 2.66 2.66
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¢ 10- 11 BF DI

A=RE-A—TOoHBEH B=HR-TOvy/HIBEEH

IE 2 K4 BEtRAUE | RBRAUF | HRRAUF | R—FR
91 |EHEMmAER 2.63 2.63
92 LA FHEE 2.53 2.53
93 |/MIERAER 2.40 2.40
94 |HEMEE 2.15 2.15
95 % Ft 2.01 2.01
9% |FIU Hz 2.00 2.00
97 | EKX 1.92 1.92
98 |thHE REE 1.91 1.91
99 |iEA& B 1.84 1.84
100 | &EREAXER 1.79 1.79
101 [J\& = 1.76 1.76
102 |JK& B 1.60 1.60
103 |XRE $EL 1.55 1.55
104 |[lUA&R KEh 1.52 1.52
105 |G&H #iE 1.50 1.50
106 |ZEF = 1.46 1.46
107 [KEZT2Z2MN 1.45 1.45
107  |B&R HE 1.45 1.45
109 |fEE BA 1.35 1.35
110 (dkE EEA 1.34 1.34
111 INEF ER 1.25 1.25
112 |HE Xt 1.24 1.24
113 |ZE#k FnEe 1.20 1.20
113 | SH —i& 1.20 1.20
115  |HPEKXKER 1.12 1.12
116 |([H Ft 0.91 0.91
116 |FkEF BA 0.91 0.91
118 |9vH HE 0.83 0.83
19 (LU & 0.80 0.80
119 |5HH ik 0.80 0.80
121 |2l KR 0.79 0.79
121 |ZF;N OBEK 0.79 0.79
123 |BH JEX 0.74 0.74
124 |[h# BR{G 0.72 0.72
125 |2 8K 0.70 0.70
125 |&F Bk 0.70 0.70
125 |ZE EE 0.70 0.70
128 |Ht EBF 0.67 0.67
128 |IUN #thiE 0.67 0.67
130 |IUTF {Ei&E 0.62 0.62
131 | KB & 0.61 0.61
132 |& AR 0.60 0.60
133 |#8H RE 0.58 0.58
134 |ifE EEE 0.54 0.54
135 |§IE Ei& 0.53 0.53
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¢ 10- 11 BF DI

A=RE-A—TOoHBEH B=HR-TOvy/HIBEEH

IE 2 K4 BHRAVL | REBRAVL | HRRAUF | R—F R
136 (BN & 0.52 0.52
137 [(IHE &% 0.51 0.51
137 |#3y AE 0.51 0.51
139 |75 @3 0.50 0.50
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